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Name ______________________________

Short answer questions/problems (you should be able to answer these in a sentence or two at most).

Use the following information to answer questions 1 through 4

Then There Were Three Inc. has decided to use $15,000,000 of surplus cash to repurchase shares at $75 per share.  Prior to the repurchase, Then has one million outstanding shares worth $45 each.  

Current stockholders are:  Colby:  350,000; Tina:  250,000; Keith:  200,000; Elizabeth:  150,000; Rodger:  50,000 

1.  What is Then’s value per share after the repurchase?

2.  If Then repurchases shares via a tender offer and everyone acts in their own best interest, how many shares will Rodger be able to sell back to the firm?

3.  Assume Then repurchases shares using transferable put rights by issuing one put right for each outstanding share.  What will each put be worth?

4.  Assume Then repurchases shares using transferable put rights.  Calculate Rodger’s wealth after the repurchase?

5.  According to the Tax Arbitrage theory discussed in class, why might high dividend yield stocks fail to provide a higher pre-tax return despite the higher tax rate on dividends compared to capital gains?

6.  According to the Agency theory we discussed in class, how might conflicts of interest between stockholders and managers lead stockholders to prefer higher dividends?
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7.  According to the Signaling theory of dividends, why will stock prices fall at the announcement of an unexpected dividend decrease?

8.  Which of the dividend theories suggests that at an unexpected increase in dividends stock prices should rise and bond prices should fall?

9.  Of the dates associated with dividend payments, which comes 3rd chronologically (in order over time)?

10.  List (but do not discuss), three of the reasons we discussed in class that firms might repurchase shares.

